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function Vect=ZigZagscan(X)|
[~, N]=size(X);
Vect=zeros(1,N¥N);
Vect(1)=X(1,1);
v=1;
for k=1:2*N-1
if ke=N
if mod(k,2)==0
i=k;
for i=1:k
Vect(v)=X(i,]);
v=vtl;j=j-1;
end
else
i=k;
for j=1:k
Vect(v)=X(i,]);
v=y+l;i=i-1;
end
end
else
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if mod(k,2
p=nod(k,N); j=N;
for i=p+l:N
Vect(v)=X(i,j);
v=y+l;j=j-1;

end

else
p=mod(k,N);i=N;
for j=p+l:N
Vect(v)=X(i,j);
v=y+l;i=i-1;
end

end

end
end
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Q4 = ZigZagscan(B2)
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function process(file, m, n)
QT =[16 11 10 16 24 40 51 6l
12 12 14 19 26 58 60 55;
14 13 16 24 40 57 69 56;
14 17 22 29 51 87 80 62;
18 22 37 56 68109 103 77;
24 35 55 64 81104 113 925
49 64 78 87103 121 120 101;
7292 95 98 112 100 103 99];
fin=fopen(file, 'r');
¥=fread(fin,m*n, 'uint8=>uint8'); fclose(fin);
Y=reshape(¥,m,n);
Y=y
dc
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for i=1:8m
for j=1:8:n
tmp = Y(i:i+7, j:i+7);

tmp = dct2(tmp-128);
tmp = round(tmp ./ QT);
vec = zigzag(tmp);
xx = 1;
while(xx<=64)
if(xx==1)
s = vec(xx) - dc;
num = strlength(dec2bin(abs(s), 1));
if(64%ceil((1-1)/8)+ceil((j-1)/8)==100 || 64*ceil((i-1)/8)+ceil((j-1)/8)==1999)
fprintf("(%d, %d)", num, s);
end
else
cnt = 0;
while(xx<=64 &k vec(xx)==0)
cnt = cnt+l;
XK = Xxtl;

end
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i f(xx==65)
if(64%ceil((1-1)/8)+ceil((j-1)/8)==100 || 64*ceil((i-1)/8)+ceil((j-1)/8)==1999)
fprintf(", EOB");

t = vec(xx);
num = strlength(dec2bin(abs(t), 1));
if(64%ceil((1-1)/8)+ceil((j-1)/8)==100 || 64*ceil((i-1)/8)+ceil((j-1)/8)==1999)
fprintf(", (%d, %d, %d)", cnt, mum, vec(xx));
end
end
end
XK = Xxtl;
end
if(64%ceil((1-1)/8)+ceil((j-1)/8)==100 || 64*ceil((i-1)/8)+ceil((j-1)/8)==1999)
fprintf("in");
end
dc = tmp(1, 1);
end
end
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BERTLRE

process("lenna. raw",512,512);
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(1, 1), (0, 1, -1), (0, 1, -1), EOB




image1.png
159.
114
135.
143.
133.
149.
164.
98.

1489
7898
2363
4956
0820
4238
0115
0784

135.
109.
127.
164.
185.
129.
129.

94

8430
6130
6821
8689
1099
7444
8452
2476

137.
113

134,
151,
168.
186.
118.
152,

1511
5845
1689
1375
4966
3132
4692
7112

138.
109.
119
94.
167.
.9800
105.
159.

131

6235
2646
2703
7310
4128

8286
4309

130.
109.

8.
126.
153,
103.
134,
169.

9504
2239
3789
7112
5842
3191
3345
1680

127.
95.
104.
96.
147.
90.
.0945
200.

151

8376
5630
7578
9834
3169
1890

1360

134,

80.
100.

87.
135.
142.
143.
139.

4500
2715
0669
6392
3281
1013
8657
6064

M

72.
L2192
116
149.
180.
129.
98.

81

L4268

3013

8193
1877
1355
0601
5386




image2.png
m=512; n=512;

fin=fopen( 'lenna.vaw', 'r');

¥=fread(fin,m*n, 'uint8=>uint8'); fclose(fin);

Y=reshape(¥,m,n);

A=Y ;

[M,N] = size(d) ;

nx =28 ; ny=28;

=Mnx ; n= M/ny H

= size (&) ./ [m n];

= mat2cell (&, repmat (m, 1(1), 1), repmat (n, 1 (2), 1));
cellfun(@nean,T, 'un',0) ;

= cellfun(@mean,M, 'un',0) ;

112mat(M)

=== 3 — 5
1
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